. . Code No.
Series HRL'1 Bt 32/1/1

. Candidates must write the Code No.

on the titte page of the answer-book.
Tormmefl IR-gfem @ g@ 78 W AS
3. I fod |

. .Zzck that this question paper contains 12 printed pages + 2 maps.
Zz ~.mber given on the right hand stde of the question paper shéuld bewritten

- -z Taie page of the answer-book by the candidate.

® =232 check that this question paper contains 29 questions.

e - .c23¢ write down the serial number of the question beforg attempting it.

~¥ minutes time has been allotted to read this questionspaper. The question paper
=11l be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 agm. the student will read
e question paper only and will not write any answer ensthe answer script during
this period.

FOI 5 W A 30 T ¥ gl U8 120+ 2 W@n-weta 3

-1 | Tl 219 H IR T 70 R T H BH IN-TI&ie] o a-98 W fors |
FIET I W A 39 -1 T 20 T B

FIIT I 1 IR fAE IE E BTER, Y W wATE Tavd fod |

T TS 1 U o forg 15 T s Ema T o 2| weAs = faew gatg 1 10015
FS o ST | 10.15 991 § 10730 1 T 9T el ToTF 1 Ta7] IR 39 3aTy
* ERH o TW-ETH R B IR T8 T |

SOCIAL SCIENCE
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e sz 33 792 ] [ g 3% : 80

General Instructions :
(i) There are 29 questions in all. All questions are compulsory.

(ii)  Marks for each question are indicated againsit the question.

[ PT.0.
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(iii}

(v)

(v)

(vi)

Questions from serial number 1 to 10 are I mark questions. Answer of

these questions may be from one word (0 one sentence.

Questions from serial number 11 to 18 are 3 marks questions. Answer

of these questions should not exceed 80 words each.

Questions from serial number 19 to 28 are 4 marks questions. Answer

of these questions should not exceed 100 words each.

Question No. 29 is a map work question. Attach the map inside youn

answer book.

AT 48y :

(i)

(i)

(iii)

(iv)

(v)

(vi)

F 29 577 31wt v s §

Y& T99 & 379 F99 P 104 73 70§

37 G&AT 1 § 10 7% F I3 QF-TeF 37 #'8/ 37 T 1 37 Uh 9eg
a1 TF IIFT T JF F A8 a TeT)

G99 GedT 11 & 18 d% & TohTH-T17 3761 & £/ T 71 &7 307 80
wr=el & i #7 78F s WA/

T G719 H 28 Gadh Y97 GH-TR 371 & &1 §7 I91 $7 I 100
real § 378,78l BT FIfET

Y39, @] 29°0F ST § gaid Y99 81 for 7w e i 3t IW-
gt & Wi gor #ifg

Give the meaning of liberalism.

Or

Mention the main base of colonial economy of Vietnam.

ISR H A Sy

3eqar

T <t sfufafies sefeemn & ger snur @1 e iy
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Which are the rwo sources of fresh water in India ?

YA § a0 S & S Hd g 9 87

Name the Avo main ferrous minerals.

&l wq@ ©iig WiHstl & AW sy

Where is the targest solar plant located in India 7

T 0 g9y 921 4] S 959 el fTRa g 7

Mention the fwo major ethnic groups of Belgium,

dfesrem & & g TR ARl W I hif |

How did Tommie Smith and John Carlos try t@ draw intemational attention
to racial discrimination in the United States at thetime of Olympics, held at

Mexico city in 1968 ?

T 1968 # Afatrent et 4 gu SAifciimie @ & w4 2l fiy off 9 s
T e § Bl ® T % i sfidE e o s e v o
FITE 7

Why do some people, belonging to the same religion, often feel that they do

not belongdo the sathe community ?

Uk g GH S A AT S AN TR G2 Rl TF & 9gIE H 4I H Ad]
A2

What 1s the main criterion for comparing the development of different

countries ?

ot 29 % foere Y go W gET MR F R ?

VatiA=1

Vo=
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12.

13.
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Give the meaning of average income of a country.

T 291 S A 7 1 39 TR

What is meant by sustainability of development ?

farenra = wreofraar 6 T @19 27

[tow did Romanticism seek to develop a particular form of nationalist

sentiments during 18th century ? Explain.
Or

Why did I‘rench policy makers wanted to educate the people of Vietnam 7

[ixplain.

TEREd] warEd § waTdiarR orn yaR T oy TR RSy ura-T & ™
AT =R 977 T hifSu |

S OC
et Afy Fmtar faaaam & Smhan =it frfie e =g 97 oy fifkn

Describe any iiree features of Civil Disobedience Movement of 1930,

1930 o HiE=T 2771 8TEe $ el d= fEemens &1 gy =fw)

Study the given passage and answer the questions that follow :

The Independence Day Pledge, 26 Janunary 1930

“We belicve that it is the inalienable right of the Indian people, as of any
other peoplc, to have freedom and to enjoy the fruits of their toil and have

the necessities of life, so that they may have full opportunities of growth.

We believe also that if any government deprives a people of these rights

Ix]=3

3x1=3

Ix1=3
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and oppresses them, the people have a further right 1o alter it or to abolish
it. The British Govermmment in India has not only deprived the Indian people
of their frcedom but has based itself on the exploitation of the masses, and
has ruined India economically, politically, culturally and spiritually. We
believe, therefore, that India must sever the British connection and attain

Purna Swaraj or Complete [ndependence.’

(13.1) Why was it the inalienable right of the Indian people to have freedom ?

(13.2) How did British Govt. exploit the Indian masses ? Lxplain.

feu MU ar=Ee H ITTHE & R Wk AW feU T §SAT A I A
wa-gar Teaw & s, 26 I 1930

‘g faveng 2 & BT oft oo 5 g gt S=aT S o a7 v arefe
(inalienablc) 3w & fe T enedY i, ‘o) Teda &1 wa fist, @i
T a2 ot favarg ¥ & gl SRl wer S S = Al @
A Tl ¥ S FAT AL SHAT 1 off TR R SEer A1 W we THT

FHE W ATHR T GRa § Teart TR 19 Faa relld SEar o e
T Fia R B; Ffcsh SUT a1 1 09T TR & 3T 391 =) 3M0%7h, T,
qrepfo Ua et Tt v a8 o fen § | gafere gamy favems @ B wma
I @HAE w € B % 4y aud gt dagl ) qund obis gof s g
I =R

(13D 9EdlT ST F HEE T I R A STEE e g ?
113.2) Tt SR A e S &1 sty feed weR TR ¢ samen Fife

1+2=3

| P1.O.
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e

14.

15.

14.

32/11

Below are given three groups — A, B and C for questions number 14 and

15. Select any one group for answering these two questions.

T WEAT 14 3R 15 % Tovg =1 o6, @ o 1l oo Ru g ¥ 1 ga S
gyl & I % fore TRt oo v = # g

Group A
g &%

What is Group 77 7 Why did Group 77 countries demand a New International

Economic Order 7 Explam.
TR 77 &7 W 77 % < 7 TS STqUE AT S O] st = 7T i 7
T Hi|

How did East India Company capture regular supply of cotton and silk goods

from Indian weavers 7 Explain.
T TieA FET A TR PR A SR Wl aegat i Mt smgfd @«
oy s s forn? e i)

Group B
wEE

Explain with“examples that an average worker in the mid nineteenth
céntury was not a machine operator but the traditional crafts person and

labourer.
SHTEEl Bt o Hel 1 HAea T FRE W W L 916 T8, Fiow TR
FRIR 3R ASQ T, IR TiEd T Hior |

1+2=3

3x]=3

Ix]1=3
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15.

16.

17.

18.
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Mention various measures which were taken to decongest London in the

nineteenth and twentieth centurtes.

T 3R e warfsea O 927 @ figare 1 &0 4 & fou 33 1y fafis

IUTAT <R 3@ BT

Group C
LEGRIT

Explain with examples the role of technology in helping to solve hardships
of food availability throughout the world in late nineteenth century.
FeEdl gt % ifan =0 d GER W T AT WTE IUASUAT bl hiSATS I &
F T L wAIET BT spfteer 1 IErwt wiga @ wiu)

How did the development of cities influénce thes€cology and environment
in late nineteenth century ? Explain by,giving an example of Calcutta
(Kolkata).

et gt % =R 5 (R % foe 3 aitRyfoRt ofR gatEm = fea
WERR Wi fere ¢ e, (FITehraT) 1 I8 od Y FE HI|

Explain any three factors that affect the location of industries in a region.

Forelt sreml 3@ o fesrfa o wenfara onet Al el o Rl B v R

ExXplain, how power is shared among different organs of government.

W%Wﬁ%mmwwwmﬁmﬁ,wﬁm|

How did consumer movement arise in India ? Explain.

WA H 3UNTHI STEIeH e TR 3% a1 7 T8 SR

3x1=3

Ix]=3

3x]=3

Ix1=3

I<1=3

Ix]=3

[PTO.
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327171

“Print did not only stimulate the publications of conflicting opinions among

different communities but alsc connccted them in nincteenth century in India.™

Support the statement with examplcs. 4x1=4
Or

“Prem Chand’s novels are filled with all kinds of powerful characters drawn

from all levels of society.” Support the statement by giving suitable examples. 4%] -4
“uwa § el yrared! ° gEm A 7 e s agent 2 ot e

TR 1 T TR ifug 372 3Tam O SiE o1 39 YA wh JaTeion Eied

g i

ST
g o IO T AU o J W H TG Ay FrhereEia €17 IR
Z3TE &4 g FuA i gfE i

Classify resources, on the basis of exhaustibility in two groups. Mention

three characteristics of each. 1+1Y2+1Y5=4
FATHA] & TR T FETEA] D2l Sl § Giighd BT | F® an &) di9-d
faryard sramy)

Look at the picture’care fully and answer the questions that follow : 1+2+1 =4

Ty




(21.1) Name the crop shown in the picture.
(21.2) Write climatic conditions required tor cultivation of this crop.

(21.3) Name two major producing statcs of this crop.

frifera fom =) waerigEs fen 3 38 9= o T et o 3w S

(21.1) foz 4 R 18 woa =1 9 SRy
(21.2) 38 BT & FH & 70 HEwsh, sicrariaes e fofigu

(21.3) 9 O % Gl T ICNIHISE! * AT Famst |

Note : The following questian is for the Blind Candidates only, in lieu of question

number 21.
are ;. Frafafagu e gfidm ohenfdat % far v F@n 21 F =M w

Explatn any four characteristics of commercial farming in India. gx =4

TRG A ATiTega FHa 6l el ar Feward w T S|

22, Why is road transport more useful than rail transport in India ? Explain four

reasons. 4x1=4

YRa H dgsh giagd, IoT aiast 8 I Iuaif &b € ? uIR S WY Sy

32711 9 [PT.O.
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24,

25.

26.

27.

28.

29.

32/1/1

How do social divisions affect politics 7 Explain with examples. dx]=4

GTaTSTeR WevT fore YeRT QeI = THTi otd 2 7 SeTewun |ia ww witg)

How do pressure groups influence politics ? Explain with examples. 4x1=4

9T WHE T R Bra TR w9TE STerd § 7 SereRvn |fed w9 HiRg |

“Democracies lead to peaceful and harmonious life among citizens.” Support

this statement with examples. 4x1=4

" HAIRaTE IMEH TS 9T 37 HEWE HT Siied SN T AFIGEh % g

EaTR 9iferd 2t 21 39 e i IS Higd I8 HiT|

What is an organised sector ? Describe its working conditions. 1+3=4

TS S5eh 1 BT & 7 GiSd 89 it mEl-fRdfah w avia Hifse)

Why are transactions made in money 7 Explain with suitable examples. 4

TRIEERI 3T o TTeAH | T T ol S9YRE Sl Hied T8 SRy

“Globalisation and competitionsamong producers has been of advantage to

the consumers.” Givejarguments in support of this statement. 4.
“SrvEteRtur SR Icdtashl A o yfaenal § el v gan 21 3 %
% &7 H ek, Gl |

Six features with serial numbers (i) to (vi) are marked in the given political
outline map of India. Idenfify these features with the help of the following

information and write their correct names on the lines marked in the map. gx1=6
(1) A region of large scale industries m 1931
(11}  An important centre of overseas trade during 17th century.

{(i1i) A bauxite mine

10



(1v) A mica mine
(v} A cotton textile centre
(v1) A terminal city of East-West Comidor
Or
Locate and label the following on the given political outline map of India : 6X1=06
(1) Madras (Chennai)
(i) Dandi
(i)  Rihand — dam
(iv}  Kaiga — nuclear power plant
(v)  Vishakhapatnam — iron and steel plant
(vi)  Srinagar - software technology park
feu M wRa & e tEr-umtes § wen () 9 (vi) 732 feea F g ) i
@ T TAFI o STTYR W 3 U1 Y TN 37K 39k QY T 9ieE 8§ 27
@t w fafen
(1) 1931 § 2 YWW & I H1 0 W
(i) weell |dt # fova =R @ @ e ¥
(iti) Ush §HEE WM
(lv) Udh 3AYh @
(v) UF g S9TER R
(vi) qd-9fvem AfcqER w1 A< T

3Tay
q1id &, feu measHifas tan-wafes w fefafaa 6 el foarn o

ot T, fetfa -

(B, HEE (I9%)
i) ==l
(iiiy TE= - =iy

(v) T — TSR el wE
(v) ToemETTe — e SN T w9
(vi) A — HigzeET MR aeh

32/11 11 [PT.O.



Note : The following questions are for the BLIND CANDIDATES ONLY, in lieu

of question number 29.

(29.1) Namc the place where Indian National Congress Scssion was held in

1927.

(29.2) Name the large scale industrial region located on western coast during

1931.

(29.3) In which state is Kaiga nuclear power plant located ?

(29.4) Name the state where Vishakhapatanam iron and steel plant 1s logated.

(29.5) Name the major mica mine of Andhra Pradesh.

(29.6) Namc the western terminal city of East-WegtsCorridor. 6x1=6

A ;. Fefafas ue sae ghede whenfdat % o 923 29 % =H W R

(29.1) 35 TIH 1 H FATGC &1 & 1927 H GRATH TLF HUF 1 TTeawH
BT T Y

(29.2) T9.1931 % A oferht 92 W B 92 e =+ sTenfies s =1 am
<Idigy |

(29.3) B AEE St G 159 T=a T fE@ 2

(29.4) IW T FiAMaangy, sl faemes oen 30 e 999 o B
(29.5) 3TFY T3 <l JHE@ A¥H @M H[ 1 T
(29.6) T=Tiwm AR o "o feenft & =1 9/ FaE |

32/11 12



QOutline Map of India (Political)
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